® ARy ui
Sowrint Ny =8 )
5 E ...... Do o ﬁ uN)
ZWE iTi el y|fs g UB
DOORS i MA1GI8 B0] fu ¢B 87
b H : -0 ES L.
Of juwiy a|x .go v
. . . R NEETIES
Fiber-Classic. & Smooth-Star. %gi 0. >3 B
% iS5 el 255 k
h‘*»'é\ifxxz“-@ & § 3 p Eg
» 252 %
¢ 5%¢ ©56
¢ 592 Bp
_37.75'MAXOA. & m§ g3
WOOD EDGE P oS
E K BB
GLAZED FIBERGLASS SINGLE DOOR i
[%2]
Ll
w/ BLINDS BETWEEN GLASS 85
INSWING /OUTSWING .8 LSE'
"IMPACT" g 2 w1, 8
& = <0 |5l «©
<2 o5 o |3 3%
O O TE @ Yo
> 5 < FQ 2 ?(’E
8 ¢ 5~ |5 €2
z % o i pn © 1%
EVALUATED FOR USE IN THE STATE OF TEXAS & < E w § & t%
The Fiberglass Door system described herein complies with the 2018 International g g o o
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code o >
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or sfucco.
2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This 2
product meets missile level "D" as defined in ASTM E 1996. =
3. Allowable design pressure requirements must be equal to or less than the design >
pressure rating shown in the design pressure chart, sheet 1 of this drawing. o
4. Conditions not covered by this drawing are subject to further engineering analysis.
5. Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of J" part
numbers. These door panels must be stained or painted within six months of
installation. w
'_.
TABLE OF CONTENTS S
SHEET # | DESCRIPTION DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) .
] Typical Elevations, Design Pressures & General Notes CONFIGURATION INSWING OUTSWING %
e POSITIVE | NEGATIVE POSITIVE | NEGATIVE DATE:_7/. 5 TT/S:?’
4 Horizontal & Vertical Cross Sections SCALE: it
5 Vertical Cross Sections X +45.0 -50.0 +45.0 -450 DWG. BY: RW
6 Frame Anchoring CHK. BY: LFS
7 Hardware Details DRAWING NO.:
8 Lite Frame & Glazing Details -
9 Bill of Materials & Components TX-5218
SHEET _ 1 oF _9

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG imp FJ Jambs (TX 5218-52230C - Drawings\TX-5218-5220.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.




Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG imp FJ Jambs (TX 5218-5223\C - Drawings\TX-5218-5220.dwg

2.38" 1.2" =
1.2" =
~ - EXTERIOR
? ] !
5 7 5 ;
$ 4 TN : Jj N0 f
/ = D INTERIOR
HINGE STILE LOCK BLOCK
ENGINEERED WOOD) @HORIZONTAL CROSS SECTION 125°LONG (WOOD)  e46s wor0m)
—at 111" | 2.38" f IRES
(-] EXTERIOR (==l |
? S dj | ; L—-L] = ] |\
M f 7 T xR i
/ ] D INTERIOR D ]
LOCK BLOCK
HINGE STILE . LATCH STILE
ENGINELRED WOOD) @ HORIZONTAL CROSS SECTION 125" LONG (WOOD) e wioop)
36" MAX. DOOR 35.81" MAX. DOOR 35.81" MAX. DOOR
PANEL WIDTH PANEL WIDTH PANEL WIDTH
( 2 > ( 2 ) ( 2 )
/10 = 20 20
\2/ Voo 1\2/ v \2/ ~
= s 5
O O O
- wo B w5 w0
& 1 =s | R
% X o 3 X o & X e
8 ®l— 8 ®|—+ 3 ®|—
> b b ?
3 3 3
& ) & ) & ,
/// /// [//
/ / /
4 4 4
FIBERGLASS DOOR PANEL FIBERGLASS DOOR PANEL

40 BOOK DOOR - WOOD EDGE

FIBERGLASS SKIN: 0.073" MIN. THK.
FOAM CORE: POLYURETHANE -1.9 PCF MIN.

41

HYBRID DOOR - WOOD EDGE

42 FIBERGLASS DOOR PANEL
U1 DOOR - WOOD EDGE

TOP RAIL
(COMPOSITE)

FOAM CORE

INTERIOR

-

&
O]
[
/

FIBERGLASS SKIN

¥/

BOTIOM RAIL—|[

(COMP.)

m VERTICAL CROSS SECTION

0.85"

~ EXTERIOR

0.85"

el BV A

\2/

\2/

i
ST Py, ¢
e *iol 4 £ 3 0
B2 i g e, 83, Ba
':;'Q'}"...' s%s 0..' ,(:‘)22 ~ E* % %m
f"l\:' 305 "..¢(} Q g. ) G:
lg' : : :f'J %‘.\9 - td % " 21
;.'o"‘-:' 30?5?." ot A IR N
5% iviv ZINE N SRS
'éuﬁ‘ iz il LF ‘\ -3§ Egg 2z
AR 10 Y EF fEtwo 90
"I{‘é‘ 97 & 3 3389 8%
TOP RAIL Il‘!i{ xi> FPRs . Zg® §§
(COMPOSITE) Nivioe® & oNs ER
o % 5%
e £M g 016
2 3 g6 ©
® SV %E
a omon 08
2 § D
£ %E
] E R BB
FOAM CORE |-~ - °©
~ )
=
Q el
o0 W
e e
g . —d
} %% 3 g
———— o
l o 8138
Wil 5l = |8 S
8 =
g z
Tl >
INTERIOR )) EXTERIOR
e 1=
=z
@)
) %)
A,
FIBERGLASS SKIN
E B
3 3
=
/
oo s 1721/2
) SAE  N.T.S.
~— 1.7 DWG. BY: RW
CHK. BY: LFS
/ 4\ VERTICAL CROSS SECTION DRAWNG NO
TX—5218

SHEET 2 oF 9

© 2021 R.W, BUILDING CONSULTANTS [NC.



CONG BLNVLINENDD SNIaINg "m'd 1202 §

2S8LL—4 # NOLVMLISIORY 40 ILVOIALLYID SNOISIAZY -
SHIAINIONZ IYNOISSA0Md 40 QuV0S SvX3L SNOILVAI T3 A8 3lvad [ON Slalzlon] o 9_
) L
LBLE'6G9°CLE TON euoyd : NS I s
S6GEE 4 OOMIDA 092 Xog ‘O'd \Sugu AATENISSY MO Ldvd Nz & :20 °
"ONI ‘SINVLINSNOO ONIGTING N R 3_
¥00a SSv19434l4 NOoTEEle B
SZLvOL# B'd SvX3L NAL—YWHIHL I w sl W &
“I'd IPIUYDS "4 UOpuAT Ay peaodesd sjpuswinoog :19Na0Nd g W iz z

pr—

3

O

St

il

o ol

[T T¥]

v

[Ty iey

55

= -

< <{

z Z
53|90
M. 5O vy
21,8
s 3|s8
122128
A~ A~

SCHLAGE
KWIKSET

SEE HARDWARE
CHART

(37
4/

2

©

(3
NN

Bmp0zz5-8125-X1\sBumelq - D\(€2zs-8Lzs X1) squer (4 dw| 94 5gg 0,8 18 8.9 -XXXX Al XXX - 1d1\su] Jo 31daQ sexal - S\LNINVA¥Id ML BULIBY [\SIUBIDNZ



EXT. SHEATHING \ | e
& /DRYWALL

Z o

A\

(0a(a2)

EXTERIOR

INTERIOR

W
]
S 0
Rogfo) 14
Ex 5 M
A -
N Om 4]
-
b LE o
c Ll |
O goal <
- bo =
3 Sco ©
> HNse ©
S5, 0
9
[7: {f
Z 0o o
3 SN, &
) d o
O xXZ
v [+ L.
2 Zmgy O
& 2455 0
* Rk %
o Q
o E_,E o
2
=4
o
3 -
°
o

DRYWALL ?? L OI5CSINK
\\ i (1Y)

INTERIOR

AV’
===~~~ ~ 1 | s /
& @é ' EXTERIOR
EXT. SHEATHING @é 29 @@Q

/2" HORIZONTAL CROSS SECTION
w Outswing shown (Inswing similar}

'/

i

s
¥
7
I}

71"\ VERTICAL CROSS SECTION
w Outswing shown {Inswing similar)

/ DRYWALL

INTERIOR
‘X
EXTEROR

(0are)

EXT. SHEATHING

m HORIZONTAL CROSS SECTION
W Outswing shown {Inswing similar)

THERMA—-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:
HORIZONTAL & VERTICAL
CROSS SECTIONS

PRODUCT:

NOJ DATE

bATE: 7/21/21

SCALE:  N.T.S.

DwWe. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5218

SHEET _4 oF _9

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223)\C - Drawings\TX-5218-5220.dwg

CERTIFICATE OF REGISTRATION # F—11852

REVISIONS

© 2021 R.W. BUILDING CONSULTANTS INC.



Notes: SO i
1. Sill tem #32 is attached fo jambs w/ (3) #8 X 2-1/2" pth screws at each end. ,:;‘L‘-*“;;; S 1;-1% N 2
Sill tem #33 is attached to jambs w/ (2) #8 X 2-1/2" pfh screws af each end. PG 2% 0, g3 9
Sill tem #34 is attached to jambs utilizing (2) #10 X 2" pph SMS at each end. S § “% 4; Eg o b8
o7 iCim g 8|8, 5B EC
s LR nu Om 5
o Y - Y Gu
?’O:%gmzv vl NP
Zwi 7 izl Nlgg #hs 3
7S ‘N |2E 283 53
e, 8 s BEB GE
(’2&"%.,-2 " - 584 0ng
INTERIOR N\ EXTERIOR s f R Zob Lb
INTERIUR CAIERIVR Ppadace® 5 8R¥. £g
A\ Y ° g §§ u.:
EXTERIOR INTERIOR § g°g o6
& 502 g
(a0)a(42) §ogds b
ne
= OO®@ bS
[ 4
£ fol
. 4/ 32 2 SO
SEE NOTE | a
SEE NOTE 1
o %)
28 | £,
ol 98
8 |5 3=
g3 |2 33
I(D i =0
S
. 8 2
5 5
8 &
o
/"1 "\ VERTICAL CROSS SECTION / 2"\ VERTICAL CROSS SECTION o g
B/ Inswing Sill g S
\ 5/ Inswing \_5_/ Outswing s >
\\
EXTERIOR INTERIOR
172]
=z
(s0)a1(a2) 5
7
|
hed
SEE NOTE | :
Ll
<
0
o
=z

DAE: 7/21/21

SCALE:  N.T.S.

m VERTICAL CROSS SECTION DWG. BY: RW

w Public Access Sill cHk. B:  LFS
DRAWING NO.:

T™X—-5218

SHEET _5 oF _9

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223)\C - Drawings\TX-5218-5220.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.



TON| SLNVYLTIOSNGD aNIaiing

‘MM L2ozg

ZS8LL—4 # NOLWMLSIOZN 40 ILVOLILYIO SNOISIAZY -
mmmmz_czwmmﬂ,_%m_w.mwwmwo MOocMN.“Mom svxal ONINOHONY TNV Ad divd [ON m ” oWu o o 9_
: s . [’
S6GEE 14 OSUIPA 0£Z X0 'O'd \N\h@ ATENESSY MO Ldvd py M ~ 4 n2u S
"ONI "SINVIINSNOO ONIdTing ~ . z | 6_
d000 SSY19438l4 N OB E|le B
€TLPOL# "I'd SwxaL NAL~-YWH3HL i m L i
‘I'd IPIWIYDS d Uopuky Ay peJtodsld sjusWINDO] 119NQ0Nd 28 W z W -
-
m::‘i-ooynztoooo..conoe.a-:v::“
o LOINHOS J NOGNA o
.\a.;ooﬂu-.ao»nc-o:..oqozoo:‘.}ua:;x
n“ ¥ % ¥
\&ﬁ ‘..o ..o. .«,h
Nm Q‘W\.ol ..... L) Py
nddi g 3R
L2RT ey
n
el c)
S
x
© i
*:a
) <
S g
[a
m —
=
o=
e
fas]
=2
<
-3
. {dAl)"D'O
Bame Sd ~eanilt K-
—= ('dAL) 9 YW 1
I T ] I I ] =
o
S
2 X
2 O
<_. <
& 5= <
Q= Ly
<<
4 =
<
| ] ] ] ] oc
L.

FRAME
N

BMp'0z2s-8L2s-X L\sBuimel - D\(€Zz5-812s X1) squief (4 dwj 94 589 0.8 8 8.9 -XXXX Al XXX - IGL\sul o 1daq sexal - G\LNINVIANYIC ML BULBYI\SIUBIDNZ



TAONG] SLNVLINESNGD aNtanmnmg

M LZ0Z O

Ze8Ll—d # NOLVHISIORN 40 3LvOI4IN3D SNOISIAJY -
SUIINIONT IWNOISSIH0¥d 40 CQHVOE SYXAL SIVIIA FHYMONVH Ad 3ivd ION p ulzlo] « 9_
. . g - / e L ~—
S6SEE mﬂ_momm_mom Pwﬁmwomomm c.n%u \Sv@u ATGNISSY ¥0 Lidvd S _M ~ s N &
"ONI ‘SINVLINSNOD SNIaTing ~ . z | 7_
¥00d SSY19¥3dld ~NLE S X
£ZLYOL# "I'd SvXal NAL—VAYIHL SEIFIME &
“qd IPRUYDS "4 uopuk Ag pedpdesd sjuswinoog 10oNQoNd m @ W w =S %
L 3 B 3 A
T ok
b%.%m izo\%ﬂmm
S,
I T
8 LOINHOS 3 NOGNAT &
b v 3
€y w4 S0~ <L o
¥ %, % S x g / e
N-MWJW\\MVM.N:::-Q-MWFJMM%\ ““ 7 = m .W
~#.pﬂmma.(?&0. & _9 W ©
I
‘\m e tef
GWVT 40 - J00A ARYAH/ LN _ /.//\ / m o
dOLWO¥4 .SZ1'LL ('dAL) .S2°6C L [\ p oz
-
Olc
GWVT 40 4000 %008 & 2=
dOLWOU4 .ST'LL ('dAL) ST'6Z @ - =
=
M= = 5 P
I ==  — @
5 s
a £
o ®
SE
T
L
&
— A:m._. Hv :mw..v.v i ..Im..v
:m.m —— o0 w
=0
<8
[ (Em ki) | wlo
— : T =X =
Bl
2
[ —
50
—_
<82
ke
o3
o =
28 &
£
® s 3
® 2 g 5
L = = L
== =l | 88 S
Z P ¢ 8|9 4 <= a
w3 Qv <
T Q M o3 kL
3 = )
5 g 3
® 5 3
5 ® =
S

Bmp0zzs-8Lzs-X1\sBuimeld - D\(£225-8125 XL) squier (4 dwj 94 984 0.8 8 8.9 -XXXX Al XXX - 1QL\su} Jo 1deq sexal - G\LNINVINYId ML BULRYINSIUBIDNZ



SRt a3
Fo il 33 2 o
K o =t Ec 0 Ll 10
2o i £+ g 4o
DOW 995 GLAZING INEGRTE Gu  gR® 87
COMPOUND éém‘%“” wt =y &
4 [T LT Y
B z: §§ % 2:
X S sk Zip 0D
1 ["“'. [ - 2 S pg®e Ntk
NORSEAL CLOSED CELL 1/2" GLASS BITE UGS d Z fres pon {E
PVC FOAM ; Mrid Y s §n% o
——— 1-1/4" O.A. THICK GLASS i & § ol
EXTERIOR s 2524 E
[ ~ [
=) 1/8" ANNEALED GLASS 2 255 2.
< mon <%
.~ 0.090" SAFLEX PVB INTERLAYER > = 88
, -~ £ 9k
— : » 1/8" ANNEALED GLASS g
20.94' D.L.O. & Z ~ ! E &K P8
S : BLIND INSERT 2
WIDTH ~— 8
? AIR SPACE
- E 1/8" TEMPERED GLASS
INTERIOR
FOAM SPACER o« 3
} 4A w/ ALUM INSERT 28 | i
#10X2'PPHSMS  NORSEAL CLOSED i |5 Eo
CELL PVC FOAM 22 |g L&
E:JS = N
£ |4l =3
m <
) ' GLAZING DETAIL Bl o 9
#10X (QMF;P)H SMS Gl 1-1/4" Insulated Laminated Glass § S
: w/ Internal Blinds e x
& P
e 4
I
>_
5 .
o)
a
= 1
g :
0. . Jura—
= O
=E V l 2
= >
= i
L i ) "
‘ 4n - g
~(TYP) S
68" LITE FRAME @ ALUMINUM IMPACT LITE FRAME DATE: 7/,-3 7T/527
- SCALE: 1.5,
ALUM. (6063-T5) owe. B:  RW
CHK. BY: LFS
DRAWING NO.:
TX—5218
SHEET _8 oF 9

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223\C - Drawings\TX-5218-5220.dwg

© 2021 R.W. BuILDING CONSULTANTS ING.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223)\C - Drawings\TX-5218-5220.dwg

BILL OF MATERIALS

TEM # | DESCRIPTION MATERIAL
A 2X FRAMING (SG >= 0.42) WOOD
C 1/4" MAX. SHIM SPACE -
F #10 X 2" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
1 FINGER JOINT PINE JAMB WOOD
7 WEATHERSTRIP FOAM
8 DOOR SWEEP VINYL
9 SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL
20 #8 X 2-1/2" PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
22 #8 X 3/4" PFH WOOD SCREW STEEL
23 #9 X 3/4' PFH WOOD SCREW STEEL
24 #9 X 1" PFH WOOD SCREW STEEL
26 #8 X 5/8" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL

28A | DEADBOLT SUB-STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
32 INSWING THRESHOLD ALUM/COMP
33 OUTSWING THRESHOLD ALUM/COMP
34 PUBLIC ACCESS THRESHOLD ALUM
40 DOOR PANEL (BOOK) -
41 DOOR PANEL (HYBRID) -
42 DOOR PANEL (U1) -

0.75"

4.56"

\ '3
2'2n »— ‘:, A‘ *
| ?2‘{‘5)

”0,.‘.§ z g .“”,o‘;( ’:,.
X i ??‘(}.té\()&
@ FINGER JOINT PINE JAMB , } e

Mnaae™

Lyndon F. Schmidt, P.E.

TEXAS P.E. #104123

813.659.9197

——— ]_5" i

ST

N

32 INSWING THRESHOLD
Adjustable Composite Sill

33 OUTSWING THRESHOLD
Composite Sill

Oy

0.082"

N

[N

34 PUBLIC ACCESS THRESHOLD

v gio)

179" —]
. SWEEP

‘—-— 2.06" J
@Slv'ﬂ

in
~
o

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F-11852

THERMA-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

NOJ DATE

REVISIONS

DATE: 7/21/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
™X-5218

SHEET 9 ofF @

© 2021 R.W. BUILDING CONSULTANTS INGC.



